STABILITY AND SOLUTION OF TWO FUNCTIONAL EQUATIONS IN UNITAL ALGEBRAS

Yamin Sayyari*, Mehdi Dehghanian, and Choonkil Park*

ABSTRACT. In this paper, we consider two functional equations:

$$h(\mathcal{F}(x, y, z) + 2x + y + z) + h(xy + z) + yh(x) + yh(z)$$

(1)
$$= h(\mathcal{F}(x, y, z) + 2x + y) + h(xy) + yh(x+z) + 2h(z),$$

$$h(\mathcal{F}(x,y,z) - y + z + 2e) + 2h(x+y) + h(xy+z) + yh(x) + yh(z)$$

(2)
$$= h(\mathcal{F}(x,y,z) - y + 2e) + 2h(x+y+z) + h(xy) + yh(x+z),$$

without any regularity assumption for all x, y, z in a unital algebra A, where $\mathcal{F}: A^3 \to A$ is defined by

$$\mathcal{F}(x,y,z) := h(x+y+z) - h(x+y) - h(z)$$

for all $x, y, z \in A$. Also, we find general solutions of these equations in unital algebras. Finally, we prove the Hyers-Ulam stability of (1) and (2) in unital Banach algebras.

1. Introduction

The stability problem of functional equations started from a question of Ulam [24] in 1940, concerning the stability of group homomorphisms. In 1941, Hyers [10] gave an answer to the question of Ulam in the context of Banach spaces in the case of additive mappings, that was an important step toward more solutions in this field.

The theory of stability is an important branch of the qualitative theory of differential equations. During the last decades, many interesting results have been investigated on different types differential equations and system of additive functional equations (for more details, see [11], [13], [15], [16], [21], [22]).

The method provided by Hyers [10] which produces the additive function will be called a direct method. This method is the most important and useful tool to study the stability of different functional equations.

During the last two decades, a number of articles and research monographs have been published on various generalizations and applications of the Hyers-Ulam stability

Received November 28, 2022. Revised July 2, 2023. Accepted July 22, 2023.

²⁰¹⁰ Mathematics Subject Classification: 39B72.

Key words and phrases: Additive mapping, Hyers-Ulam stability, Quadratic mapping, \mathbb{C} -linear mapping.

^{*} Corresponding author.

[©] The Kangwon-Kyungki Mathematical Society, 2023.

This is an Open Access article distributed under the terms of the Creative commons Attribution Non-Commercial License (http://creativecommons.org/licenses/by-nc/3.0/) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

to a number of functional equations and mappings, for example, Cauchy-Jensen mappings, k-additive mappings, invariant means, multiplicative mappings, bounded nth differences, generalized orthogonality mappings, differential equations, and Navier-Stokes equations (see [9], [12], [14], [18], [19]).

In recent years, the stability of different (others functional, differential and integral) equations and other subjects has been intensively studied (see [2], [3], [4], [5], [7], [20], [23]).

Let X and Y denote vector spaces. A mapping $Q: X \to Y$ is said to be quadratic if it satisfies

$$Q(x + y) + Q(x - y) = 2Q(x) + 2Q(y)$$

for all $x, y \in X$.

To obtain a Jordan and von Neumann type characterization theorem for the quasiinner-product spaces, Drygas [6] considered the functional equation

$$f(x+y) + f(x-y) = 2f(x) + f(y) + f(-y)$$

for all $x, y \in \mathbb{R}$. However, the general solution of this functional equation was given by Ebanks, Kannappan and Sahoo [8] as

$$f(x) = Q(x) + A(x)$$

where $A: \mathbb{R} \to \mathbb{R}$ is an additive function and $Q: \mathbb{R} \to \mathbb{R}$ is a quadratic function.

LEMMA 1.1. [25, Proposition 1] Let X be a real vector space and Y be a Banach space. If a mapping $f: X \to Y$ satisfies the inequality

$$||f(x+y) + f(x-y) - 2f(x) - f(y) - f(-y)|| \le \delta$$

for some $\delta > 0$ and for all $x, y \in X$, then there exist a unique additive mapping $\mathcal{D}: X \to Y$ and a unique quadratic mapping $Q: X \to Y$ such that

$$||f(x) - Q(x) - \mathcal{D}(x)|| \le \frac{3}{2}\delta$$

for all $x \in X$.

The main goal of this paper is to present the general solutions of (1) and (2) without any regularity condition and prove the Hyers-Ulam stability of (1) and (2) in unital Banach algebras.

Throughout this paper, let A be a unital algebra with unit e.

2. General solutions of (1) and (2) in unital algebras

In this section, we stablish the general solutions of (1) and (2) without any regularity condition.

THEOREM 2.1. Let A be a unital algebra. A mapping $h: A \to A$ satisfies the functional equation (1) for all $x, y, z \in A$ if and only if h is additive.

Proof. It is clear that the additivity implies (1).

We assume that h satisfies (1). Then we shall show that h is additive. Suppose that h is any mapping satisfying (1). Then setting y = 3e and z = 0 in (1), we obtain h(0) = 0.

Letting y = e in (1), we get

(3)
$$h[\mathcal{F}(x,e,z) + 2x + e + z] = h[\mathcal{F}(x,e,z) + 2x + e] + h(z)$$

for all $x, z \in A$.

Letting x = -e in (3), we get

$$(4) h(z-e) = h(z) + h(-e)$$

for all $z \in A$.

Letting x = e in (1), we obtain

$$h[\mathcal{F}(e, y, z) + 2e + y + z] + h(y + z) + yh(e) + yh(z)$$

(5)
$$= h \left[\mathcal{F}(e, y, z) + 2e + y \right] + h(y) + yh(e + z) + 2h(z)$$

for all $y, z \in A$.

Letting y = 0 and replacing x by x + e in (1), we obtain

$$h[\mathcal{F}(x+e,0,z) + 2x + 2e + z] = h[\mathcal{F}(x+e,0,z) + 2x + 2e] + h(z)$$

for all $x, z \in A$. Therefore,

(6)
$$h\left[\mathcal{F}(x,e,z) + 2x + 2e + z\right] = h\left[\mathcal{F}(x,e,z) + 2x + 2e\right] + h(z)$$

for all $x, z \in A$, since $\mathcal{F}(x + e, 0, z) = \mathcal{F}(x, e, z)$.

Since h(z-e) = h(z) + h(-e) and $\mathcal{F}(e, -e, z) = 0$, letting y = -e in (5), we have

(7)
$$h(z+e) = h(z) + h(e)$$

for all $z \in A$.

Hence, by (5) and (7), we obtain

(8)
$$h[\mathcal{F}(e,y,z) + 2e + y + z] + h(y+z) = h[\mathcal{F}(e,y,z) + 2e + y] + h(y) + 2h(z)$$

for all $y, z \in A$.

Let
$$y_0 = \mathcal{F}(x, e, z) + 2x + e$$
. By (3) and (6), we get

(9)
$$h(y_0 + z) = h(y_0) + h(z)$$

and

(10)
$$h(y_0 + e + z) = h(y_0 + e) + h(z).$$

Accordingly, by (8), if both

$$h(y+z) = h(y) + h(z)$$

and

$$h(y+e+z) = h(y+e) + h(z)$$

(equivalently, $\mathcal{F}(e, y, z) = 0$) hold, then

$$h(y + 2e + z) = h(y + 2e) + h(z)$$

for all $y, z \in A$. Thus, it follows from (9) and (10) that

$$h(y_0 + 2e + z) = h(y_0 + 2e) + h(z),$$

where $y_0 = \mathcal{F}(x, e, z) + 2x + e$. That is,

(11)
$$h\left[\mathcal{F}(x,e,z) + 2x + 3e + z\right] = h\left[\mathcal{F}(x,e,z) + 2x + 3e\right] + h(z)$$

for all $x, z \in A$.

Replacing x by x - 2e in (11), we obtain

$$h[\mathcal{F}(x-2e,e,z) + 2x - e + z] = h[\mathcal{F}(x-2e,e,z) + 2x - e] + h(z)$$

for all $x, z \in A$. Since $\mathcal{F}(x - 2e, e, z) = \mathcal{F}(x, -e, z)$ for all $x, z \in A$,

(12)
$$h\left[\mathcal{F}(x, -e, z) + 2x - e + z\right] = h\left[\mathcal{F}(x, -e, z) + 2x - e\right] + h(z)$$

for all $x, z \in A$.

On the other hand, setting y = -e in (1), we get

(13)
$$h\left[\mathcal{F}(x, -e, z) + 2x - e + z\right] + h(-x + z) - h(x)$$
$$= h\left[\mathcal{F}(x, -e, z) + 2x - e\right] + h(-x) - h(x + z) + 3h(z)$$

for all $x, z \in A$.

It follows from (12) and (13) that

$$h(-x+z) - h(-x) - h(z) = -h(x+z) + h(x) + h(z)$$

for all $x, z \in A$. This means that

(14)
$$\mathcal{F}(-x, -y, z) = -\mathcal{F}(x, y, z)$$

for all $x, y, z \in A$.

Finally, replacing y by -y and letting x = -e in (1) and using (4), we get

(15)
$$h[\mathcal{F}(-e, -y, z) - y + z - 2e] + h(y + z) = h[\mathcal{F}(-e, -y, z) - y - 2e] + h(y) + 2h(z)$$

for all $y, z \in A$, since h(z - e) = h(z) + h(-e).

It follows from (14) and (15) that

(16)
$$h[-\mathcal{F}(e,y,z) - y + z - 2e] + h(y+z) = h[-\mathcal{F}(e,y,z) - y - 2e] + h(y) + 2h(z)$$
 for all $y, z \in A$.

Also, we have

(17)
$$\mathcal{F}[-\mathcal{F}(e,y,z) - y - 2e, 0, z] = h[-\mathcal{F}(e,y,z) - y + z - 2e] - h[-\mathcal{F}(e,y,z) - y - 2e] - h(z)$$

and

(18)
$$\mathcal{F}[\mathcal{F}(e, y, z) + y + 2e, 0, z] = h \left[\mathcal{F}(e, y, z) + y + z + 2e \right] - h \left[\mathcal{F}(e, y, z) + y + 2e \right] - h(z)$$

for all $y, z \in A$. By (14), (17) and (18), we conclude that

$$h[-\mathcal{F}(e, y, z) - y + z - 2e] - h[-\mathcal{F}(e, y, z) - y - 2e] - h(z)$$

$$= \mathcal{F}[-\mathcal{F}(e, y, z) - y - 2e, 0, z]$$

$$= -\mathcal{F}[\mathcal{F}(e, y, z) + y + 2e, 0, z]$$

(19)
$$= -h \left[\mathcal{F}(e, y, z) + y + z + 2e \right] + h \left[\mathcal{F}(e, y, z) + y + 2e \right] + h(z)$$

for all $y, z \in A$.

It follows from (16) and (19) that

(20)
$$h[\mathcal{F}(e, y, z) + 2e + y + z] + h(y) = h[\mathcal{F}(e, y, z) + 2e + y] + h(y + z)$$
 for all $z, y \in A$.

It follows from (8) and (20) that h(y+z) = h(y) + h(z) for all $z, y \in A$.

LEMMA 2.2. [17] Let A be a complex Banach algebra and $f: A \to A$ be an additive mapping such that $f(\lambda x) = \lambda f(x)$ for all $\lambda \in \mathbb{T}^1$ and all $x \in A$, then f is \mathbb{C} -linear.

THEOREM 2.3. Let A be a unital algebra. Then a mapping $h: A \to A$ is \mathbb{C} -linear if and only if

(21)
$$h\left[\lambda(\mathcal{F}(x,y,z) + 2x + y + z)\right] + \lambda h(xy+z) + \lambda y h(x) + y h(\lambda z)$$
$$= h\left[\lambda(\mathcal{F}(x,y,z) + 2x + y)\right] + \lambda h(xy) + \lambda y h(x+z) + 2h(\lambda z)$$

for all $x, y, z \in A$ and all $\lambda \in \mathbb{T}^1$.

Proof. It is clear that the \mathbb{C} -linearity implies (21).

Assume that h satisfies (21). Then we shall show that h is \mathbb{C} -linear. It is clear that, for $\lambda = 1$, by Theorem 2.1, we conclude that h is additive. Suppose that h is any mapping satisfying (21). Then setting x = -2e and y = 2e in (21), we obtain

$$h(\lambda(z-2e)) + \lambda h(z-4e) + 2\lambda h(-2e) + 2h(\lambda z)$$

= $h(-2\lambda e) + \lambda h(-4e) + 2\lambda h(z-2e) + 2h(\lambda z)$

for all $z \in A$ and all $\lambda \in \mathbb{T}^1$.

Since h is additive, we have

$$h(\lambda z) = \lambda h(z)$$

for all $z \in A$ and all $\lambda \in \mathbb{T}^1$. Hence by Lemma 2.2, h is \mathbb{C} -linear.

THEOREM 2.4. Let A be a unital algebra. A mapping $h: A \to A$ satisfies the functional equation (2) for all $x, y, z \in A$ if and only if h is additive.

Proof. It is clear that additivity implies (2). Assume that h satisfies (2). Then we shall show that h is additive. Suppose that h is any mapping satisfying (2). Then setting y = e and z = 0 in (2), we obtain h(0) = 0.

Letting y = e in (2), we have

$$h[\mathcal{F}(x,e,z) + z + e] + 2h(x+e) + h(z) = h[\mathcal{F}(x,e,z) + e] + 2h(x+z+e)$$

for all $x, z \in A$. Hence

(22)
$$h[\mathcal{F}(x,e,z) + z + e] - h[\mathcal{F}(x,e,z) + e] = 2h(x+z+e) - 2h(x+e) - h(z)$$

for all $x, z \in A$.

Letting x = 0 in (2), we get

(23)
$$h[\mathcal{F}(0,y,z) - y + z + 2e] + 2h(y) + h(z) = h[\mathcal{F}(0,y,z) - y + 2e] + 2h(y+z)$$

for all $y, z \in A$, since h(0) = 0.

Replacing y by $\mathcal{F}(x,e,z) + e$ in (23), we obtain

$$h\left[\mathcal{F}(0,\mathcal{F}(x,e,z)+e,z)-\mathcal{F}(x,e,z)+z+e\right]+2h(\mathcal{F}(x,e,z)+e)+h(z)$$
(24)
$$=h\left[\mathcal{F}(0,\mathcal{F}(x,e,z)+e,z)-\mathcal{F}(x,e,z)+e\right]+2h(\mathcal{F}(x,e,z)+e+z)$$

for all $x, z \in A$. Since

$$\mathcal{F}(0, \mathcal{F}(x, e, z) + e, z) = h[\mathcal{F}(x, e, z) + z + e] - h[\mathcal{F}(x, e, z) + e] - h(z),$$

(24) yields

$$h(h[\mathcal{F}(x,e,z)+z+e] - h[\mathcal{F}(x,e,z)+e] - h(z) - \mathcal{F}(x,e,z) + z + e) + 2h[\mathcal{F}(x,e,z)+e] + h(z)$$

$$=h(h[\mathcal{F}(x,e,z)+z+e] - h[\mathcal{F}(x,e,z)+e] - h(z) - \mathcal{F}(x,e,z) + e)$$

$$+ 2h[\mathcal{F}(x,e,z)+z+e]$$
(25)

for all $x, z \in A$.

Thus, it follows from (22) and (25) that

$$h(2h(x+z+e) - 2h(x+e) - h(z) - h(z) - \mathcal{F}(x,e,z) + z + e)$$

$$+ 2h[\mathcal{F}(x,e,z) + e] + h(z)$$

$$= h(2h(x+z+e) - 2h(x+e) - h(z) - h(z) - \mathcal{F}(x,e,z) + e)$$

$$+ 2h[\mathcal{F}(x,e,z) + z + e]$$

for all $x, z \in A$. Hence

$$h[h(x+z+e) - h(x+e) - h(z) + z + e]$$

$$+ 2h[h(x+z+e) - h(x+e) - h(z) + e] + h(z)$$

$$= h[h(x+z+e) - h(x+e) - h(z) + e]$$

$$+ 2h[h(x+z+e) - h(x+e) - h(z) + z + e]$$

for all $x, z \in A$, since $\mathcal{F}(x, e, z) = h(x + e + z) - h(x + e) - h(z)$. Therefore,

$$h[h(x+z+e) - h(x+e) - h(z) + z + e]$$

= $h[h(x+z+e) - h(x+e) - h(z) + e] + h(z)$

for all $x, z \in A$. That is,

(26)
$$h[\mathcal{F}(x,e,z) + z + e] - h[\mathcal{F}(x,e,z) + e] = h(z)$$

for all $x, z \in A$.

Thus, it follows from (22) and (26) that

$$2h(x+z+e) - 2h(x+e) - h(z) = h(z)$$

for all $x, z \in A$. So

$$h(x+z+e) = h(x+e) + h(z)$$

for all $x, z \in A$ and thus h is additive.

THEOREM 2.5. Let A be a unital algebra. Then a mapping $h: A \to A$ is \mathbb{C} -linear if and only if

$$h\left[\lambda(\mathcal{F}(x,y,z) - y + z + 2e)\right] + 2\lambda h(x+y) + \lambda h(xy+z) + yh(\lambda x) + yh(\lambda z)$$
(27)
$$= h\left[\lambda(\mathcal{F}(x,y,z) - y + 2e)\right] + 2\lambda h(x+y+z) + \lambda h(xy) + yh(\lambda(x+z))$$

for all $x, y, z \in A$ and all $\lambda \in \mathbb{T}^1$.

Proof. It is clear that the \mathbb{C} -linearity implies (27).

Assume that h satisfies (27). Then we shall show that h is \mathbb{C} -linear. It is clear that, for $\lambda = 1$, by Theorem 2.4, we conclude that h is additive. Suppose that h is any mapping satisfying (21). Then setting x = -2e and y = 2e in (27), we obtain

$$h(\lambda z) + \lambda h(z - 4e) + 2h(-2\lambda e) + 2h(\lambda z)$$

= $2\lambda h(z) + \lambda h(-4e) + 2h(\lambda(z - 2e))$

for all $z \in A$ and all $\lambda \in \mathbb{T}^1$.

Since h is additive, we have

$$h(\lambda z) = \lambda h(z)$$

for all $z \in A$ and all $\lambda \in \mathbb{T}^1$. Hence by Lemma 2.2 h is \mathbb{C} -linear.

3. Stability of (1) and (2)

In this section, we prove the Hyers-Ulam stability of the functional equations (1) and (2) in unital Banach algebras.

For a given mapping $h: A \to A$, we define

$$\Delta h(x, y, z) := h[\mathcal{F}(x, y, z) + 2x + y + z] + h(xy + z) + yh(x) + yh(z) - h[\mathcal{F}(x, y, z) + 2x + y] - h(xy) - yh(x + z) - 2h(z)$$

and

$$\Gamma h(x,y,z) := h[\mathcal{F}(x,y,z) - y + z + 2e] + 2h(x+y) + h(xy+z) + yh(x) + yh(z) - h[\mathcal{F}(x,y,z) - y + 2e] - 2h(x+y+z) - h(xy) - yh(x+z)$$

for all $x, y, z \in A$.

Theorem 3.1. Let A be a unital Banach algebra and $h: A \to A$ be a mapping satisfying

(28)
$$\mathcal{F}(x, y, z) = -2x - y, \\ \|\Delta h(x, y, z)\| \le \delta$$

for all $x, y, z \in A$. Then there exist a unique additive mapping $\mathcal{D}: A \to A$ and a unique quadratic mapping $Q: A \to A$ such that

$$||h(x) - Q(x) - \mathcal{D}(x)|| \le \frac{25}{2}\delta$$

for all $x \in A$.

Proof. Letting x = y = z = 0 in (28), we get $||h(0)|| \le \frac{\delta}{2}$. Letting y = -e in (28), we obtain

$$||h(z+x) + h(z-x) - 2h(z) - h(x) - h(-x) - h(0)|| \le \delta.$$

Since $||h(0)|| \leq \frac{\delta}{2}$,

(29)
$$||h(z+x) + h(z-x) - 2h(z) - h(x) - h(-x)|| \le \frac{3}{2}\delta$$

for all $x, z \in A$. By Lemma 1.1 there exist a unique additive mapping $\mathcal{D}: A \to A$ and a unique quadratic mapping $Q: A \to A$ such that

$$||h(x) - Q(x) - \mathcal{D}(x)|| \le \frac{9}{4}\delta$$

for all $x \in A$.

THEOREM 3.2. Let A be a unital Banach algebra and $h: A \to A$ be an odd mapping satisfying (28). Then there exists a unique additive mapping $\mathcal{D}: A \to A$

$$||h(x) - \mathcal{D}(x)|| \le 3\delta$$

for all $x \in A$.

Proof. Since h(-x) = -h(x) for all $x \in A$, with the use of (29) we have

$$||h(z+x) + h(z-x) - 2h(z)|| \le \frac{3}{2}\delta$$

for all $x, z \in A$.

Taking z = x in the above inequality, we gain

$$||h(2z) - 2h(z)|| \le \frac{3}{2}\delta$$

for all $z \in A$, since h(0) = 0.

Thus

$$||h(z+x) + h(z-x) - h(2z)|| \le ||h(z+x) + h(z-x) - 2h(z)|| + ||h(2z) - 2h(z)|| \le 3\delta$$

for all $x, z \in A$. By Hyers' Theorem [10], there exists a unique additive mapping $\mathcal{D}: A \to A$ such that

$$||h(x) - \mathcal{D}(x)|| < 3\delta$$

for all $x \in A$.

THEOREM 3.3. Let A be a unital Banach algebra and $h: A \to A$ be an even mapping satisfying (28). Then there exists a unique quadratic mapping $Q: A \to A$

$$||h(x) - Q(x)|| \le \frac{2}{3}\delta$$

for all $x \in A$.

Proof. Since h(-x) = h(x) for all $x \in A$, with the use of (29) we have

$$||h(z+x) + h(z-x) - 2h(z) - 2h(x)|| \le \frac{3}{2}\delta$$

for all $x, z \in A$. By [1, Theorem 1], there exists a unique quadratic mapping $Q: A \to A$ such that

$$||h(x) - Q(x)|| \le \frac{1}{2}\delta + \frac{1}{3}||h(0)||$$

for all $x \in A$. On the other hand, letting x = y = z = 0 in (28), we get $||h(0)|| \le \frac{\delta}{2}$. Therefore,

$$||h(x) - Q(x)|| \le \frac{2}{3}\delta$$

for all $x \in A$.

Theorem 3.4. Let A be a unital Banach algebra and $h: A \to A$ be a mapping satisfying

(30)
$$\mathcal{F}(x, y, z) = y - 2e,$$
$$||\Gamma h(x, y, z)|| \le \delta$$

for all $x, y, z \in A$. Then there exists a unique additive mapping $\mathcal{D}: A \to A$ such that

$$||h(x) - \mathcal{D}(x)|| \le 2 + \frac{\delta}{2}$$

for all $x \in A$.

Proof. Letting x = y = z = 0 in (28), we get h(0) = 2e. Letting y = 0 in (30), we obtain

$$||2h(x+z) - 2h(x) - 2h(z) - 2h(0)|| \le \delta.$$

Since ||h(0)|| = 2,

$$||h(x+z) - h(x) - h(z)|| \le 2 + \frac{\delta}{2}$$

for all $x, z \in A$. By Hyers' Theorem [10], there exists a unique additive mapping $\mathcal{D}: A \to A$ such that

$$||h(x) - \mathcal{D}(x)|| \le 2 + \frac{\delta}{2}$$

for all $x \in A$.

References

- [1] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Abh. Math. Sem. Univ. Hamburg **62** (1992), 59–64.
- [2] M. Dehghanian and S.M.S. Modarres, Ternary γ -homomorphisms and ternary γ -derivations on ternary semigroups, J. Inequal. Appl. **2012** (2012), Paper No. 34.
- [3] M. Dehghanian, S.M.S. Modarres, C. Park and D. Shin, C^* -Ternary 3-derivations on C^* -ternary algebras, J. Inequal. Appl. 2013 (2013), Paper No. 124.
- [4] M. Dehghanian, C. Park, C^* -Ternary 3-homomorphisms on C^* -ternary algebras, Results Math. **66** (2014), 87–98.
- [5] M. Dehghanian, Y. Sayyari and C. Park, Hadamard homomorphisms and Hadamard derivations on Banach algebras, Miskolc Math. Notes 24 (1) (2023), 129–137.
- [6] H. Drygas, Quasi-inner products and their applications, Advances in Multivariate Statistical Analysis, Reidel Publ. Co., Dordrecht, 1987, 13–30.
- [7] N.V. Dung and W. Sintunavarat, On positive answer to El-Fassai's question related to hyperstability of the general radical quintic functional equation in quasi-β-Banach spaces, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 115 (4) (2021), Paper No. 168.
- [8] B.R. Ebanks, Pl. Kannappan and P.K. Sahoo, A common generalization of functional equations characterizing normed and quasi-inner-product spaces, Canad. Math. Bull. 35 (1992), 321–327.
- [9] Y. Guan, M. Feckan and J. Wang, *Periodic solutions and Hyers-Ulam stability of atmospheric Ekman flows*, Discrete Contin. Dyn. Syst. **41** (3) (2021), 1157–1176.
- [10] D.H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. U.S.A. 27 (1941), 222–224.
- [11] D.H. Hyers, G. Isac and Th.M. Rassias, Stability of Functional Equations in Several Variables, Birkhäuser, Basel, 1998.
- [12] S.J. Lee, C. Park and D.Y. Shin, An additive functional inequality, Korean j. Math. 22 (2) (2014), 317–323.
- [13] G. Isac and Th.M. Rassias, On the Hyers-Ulam stability of ψ -additive mappings, J. Approx. Theory **72** (1993), 131–137.

- [14] J. Mora.wiec and T. Zürcher, Linear functional equations and their solutions in Lorentz spaces, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 116 (3) (2022), Paper No. 120.
- [15] D.P. Nguyen, V.C.H. Luu, E. Karapinar, J. Singh, H.D. Binh and H.C. Nguyen, Fractional order continuity of a time semi-linear fractional diffusion-wave system, Alex. Eng. J. 59 (2020), 4959–4968.
- [16] S. Paokanta, M. Dehghanian, C. Park and Y. Sayyari, A system of additive functional equations in complex Banach algebras, Demonstr. Math., 56 (1) (2023), Article ID 20220165.
- [17] C. Park, Homomorphisms between Poisson JC*-algebras, Bull. Braz. Math. Soc. **36** (2005), 79–97.
- [18] C. Park, The stability of an additive (ρ_1, ρ_2) -functional inequality in Banach spaces, J. Math. Inequal. 13 (1) (2019), 95–104.
- [19] C. Park, Derivation-homomorphism functional inequality, J. Math. Inequal. 15 (1) (2021), 95–105.
- [20] Y. Sayyari, M. Dehghanian and Sh. Nasiri, Solution of some irregular functional equations and their stability, J. Lin. Topol. Alg. 11 (4) (2022), 271–277.
- [21] Y. Sayyari, M. Dehghanian and C. Park, A system of biadditive functional equations in Banach algebras, Appl. Math. Sci. Eng. 31 (1) (2023), Article ID 2176851.
- [22] Y. Sayyari, M. Dehghanian and C. Park, Some stabilities of system of differential equations using Laplace transform, J. Appl. Math. Comput. 69 (4) (2023), 3113–3129.
- [23] Y. Sayyari, M. Dehghanian, C. Park and J. Lee, Stability of hyper homomorphisms and hyper derivations in complex Banach algebras, AIMS Math. 7 (2022), no. 6, 10700–10710.
- [24] S.M. Ulam, A Collection of the Mathematical Problems, Interscience Publ. New York, 1960.
- [25] D. Yang, Remarks on the stability of Drygas' equation and the Pexider-quadratic equation, Aequationes Math. 68 (2004), 108–116.

Yamin Sayyari

Department of Mathematics, Sirjan University of Technology, Sirjan, Iran

E-mail: y.sayyari@sirjantech.ac.ir

Mehdi Dehghanian

Department of Mathematics, Sirjan University of Technology,

Sirjan, Iran

E-mail: mdehghanian@sirjantech.ac.ir

Choonkil Park

Department of Mathematics, Research Institute for Natural Sciences,

Hanyang University, Seoul 04763, Korea

E-mail: baak@hanyang.ac.kr